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Quadratic Assignment Problems

QAP (Quadratic Assignment
Problems) (Kusiak, 1990)

Koopmans Beckmann  (1957)

QAP
Vv
an = / y
£, = / A
o = (unit of material) y /
X = 1( / W) 0 ( / )
a (Total Revenue)
fk
of / k
3
HH  H@.H S
-1 | = L. )



a / ,
/ ; () ()
+EEEEACIY *\W (1a)
Lawer (1963) 1
a = / ;
k = / <
G = ; I
s7va = A = |
= P Y
K la)
(1b)
INIR U .
Nk =« = o= [=[(
2) 3)
(Steinberg, 1961)
(Dummy)
af (identical) (1a)
mnl | E | fijCj.Xijxkt (1c)

)
(2) - (4) Quadratic Assignment Problem
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((Bazarra (1975) Burgard stratmarm (1978))
QAP
J
1 (5)
x ©)
| = L. (6)
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NP-hard
NP-hard
NP-hard I(v) (Time Complexity Function)
V
1 ' f(v)=v
V 10 1
10 (1x10)
f(v)
23V M !
1 Time Complexity Function
1
Time Complexity v
Function
(V) 10 20 30 40 50 60
vV 0.00001 sec 0.00002 sec 0.00003 sec 0.00004 sec 0.00005 sec 0.00006 sec
V2 0.001 sec 0.0004 sec 0.0009 sec 0.0016 sec 0.0025 sec 0.0036 sec
Vs 0.1 sec 3.2 sec 243 sec L7 min 5.2 min 13 min
Ve 2.1 hr 1185 days 18.7 yrs 3.3 centuries 30.9 centuries 192 centuries
2 0.001 sec 1.0 sec 17.9 min 12.7 days 3.7 yrs 366 centuries
v 0.59 sec 58 min 6.5 yrs 3855 centuries 2*10 centuries 1.3*10 centuries
y 3.6 sec 770 centuries ~ 8.4*10™ yIs 25107 centuries ~ 9.6410%centuries  26%19 centuries
1,000
\Y
1,000

1,000
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Time Complexity Function

v
v

V5
VD
2V
v

v

NP-hard

V!

v2
v3
vé
v5
V6

1000

of 1000
1000V1
31.62V2
3.98V3
1.99v4
V5+10
V6+6
V743 v <10
V2 10<v7<30
v+l 30<v7<1000
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Pop

10
15

ctype

wW o1 B

Mtype
1

2
3

Pm
01
02
03

Pop*Mtype
6-3
10-3
153

Duncan's Multiple Range Test

mean
0.0012345605
0.0012345697
0.0012345734

mean
0.0012345634
0.0012345635
0.0012345677
0.0012345700
0. 12345749

mean
00012345633
0.0012345644
0.0012345760

mean
0.0012345645
00012345696
00012345697

mean
0.0012345742
0.0012345747
0.0012345791

Syi=0.0000000015263
r2=2.11
13=2.92

Syi=0.0000000019705
12=2.17
13=2.92
14=3.02
15=3.09

Syi=0.0000000015263
12=2.11
13=2.92

Syi=0.0000000015263
12=2.77
13=2.92

Syi=0.0000000026437
12=2.17
13=2.92

Pop
ctype
Pe
Mtype
Pm

R=r-Syi
0.0000000042279
0.0000000044568

R=ryi
0.0000000054582
0.0000000057537
0.0000000059508
0.0000000060887

R=r*Syi
0.0000000042279
0.0000000044568

R=r'Syi
0.0000000042279
0. 00000044563

R=r*yi
0.0000000073229
0.0000000077195

15
15
10

SO OO W W

(%)

03
0.3
0.2

15-3
15-3
10-3

(=]

Vs
vs 10
Vs

[=p)

V§
V§
V§
V§
V§
VS
VS
V§
VS
VS

LS e S R S S L I )

VS 1
vso2
vl

vs 01
vs 0.2
vs 01

vs 10-3 :
Vs 63

1=0.25

0.0000000129
0.0000000037
0.0000000092

0.0000000115
0.0000000114
- 0.0000000072
- 0.0000000049
- 0.0000000066
- 0.00 000065
- 0.0000000023
0.0000000043
0.0000000042
0.0000000001

0.0000000127
0.0 0000116
0.0 0000011

0.0000000052
0. 00000001
0.0 0000051

0.0000000049
0.0000000044
0.0000000005

10,15
345

02,03

2=0.75

N

N N N NV V AV V V

v

095

R3
R2
R2

R5
R4
R3
R2
R4
R3
R2
R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

sig
sig
sig
sig
sig

sig
sig

sig
sig

sig

sig
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Pop
15
10

Pm
03
02

fix ctype =3

Ctype*Pc
305
309
307

fix Ctype =4

Ctype*Pe
4-09
4-05
407

fix Ctype =5

Ctype*Pc
50.7
505
50.9

fix Pc=0.5

Pc*Ctype
05-3
0.5-5
0.5-4

fix Pe=0.7

Pc*Ctype
0.7-5
0.7-4
0.7-3

fixPe=09

Pc*Ctype
09-4
09-3
095

Duncan’s Multiple Range Test

mean
8.5
151944

mean
1.1222
159722

mean

2.375

10.5
2

mean

4875

10.125
165

mean

8.375
10.0

18.875

mean
2.3750
10.0000
10.1250

mean
8.3750
16.5000
25.0000

mean
48750
10.5000
18.8750

Syi=2.1696 R=r"Syi
12=2.872 6.2311
Syi=2.1696 R=r*Syi
r2=2.872 6.2311
Syi=4.6024 R=r*Syi
1-2-2812 132181
r3=3.022 13.9085
Syi=4.6024 R=r*Syi
12=2.872 13.2181
13=3.022 13.9085
Syi=4.6024 R=r"Syi
r2=2.872 13.2181
r3=3.022 13.9085
Syi=4.6024 R=r*Syi
r2=2.872 13.2181
r3=3.022 13.9085
Syi=4.6024 R=r*Syi
r2=2.872 13.2181
r3=3.022 13.9085
Syi=4.6024 R=r*Syi
r2=2.872 13.2181
r3=3.022 13.9085
Pop
Ctype
Pc
Mtype

Pm

307
30.7
309

407
4-0.7
4-05

509
509
50.5

0.5-4
0.5-4
0.5-5

0.7-3
0.7-3
0.7-4

0.9-5
095
0.9-3

V§
VS
Vs

Vs
Vs
V§

V§
VS

V§
V§
V§

Vs
V§
V§

Vs

V§
VS

305
309 :
305

4-09 :
405
4-09

507
505
507

053
055 :
053 :

075 :
074 :
0.7-5 :

094 :
093 :
094

22.6250
14.5000
8.1250

11,6250
6.3750
52500

10,5000
8.8750
1.6250

7.7500
0.1250
7.6250

16.6250
8.5000
8.1250

14.0000
8.3750
56250

15
345

0.3

N N

0.95

R3
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R?

R3
R2
R2

sig
sig

sig

sig



13 ?

1
Mean
ctype Objective Generation
3 0.0555650970 8.3333
4 0.0555364720 55
5 0.0555650970 6.167
Mean
Pc Objective Generation
05 0.0555650970 4
0.7 0.0555364720 1133
09 0.0555650970 467
3
Pop
Ctype
Pc 05
Mtype
Pm

15

0.3

0.9

Select

Select
/

/

0.95
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Pop
6
10
15

Pm
01
02
03

Duncan's Multiple Range Test

mean
0.0012345616
0.0012345683
0.0012345739

mean
0.0012345656
0.0012345666
0.0012345715

Syi=0.0000000014324
2=211
=292

Syi=0.0000000014324
2=2.11
=292

Pop
ctype
Pc
Mtype
Pm

R= %)
0.000000003968
0.000000004183

R= %
0.000000003968
0000000004183

15
15 v
10 v

03 vs
0.3 vs
0.2 vs

01
0.2
01

1=0.50 2=0.50

0.0000000123
0.0000000056
0.0000000067

- 0.0000000059
0.0000000049
0.0000000010

15

0.3

095

R3
R2
R2

R3
R2
R2

sig
sig
sig

sig
sig

185



22

ctype

[S 2 TSN IC I )

Objective
00111114347
00111115760
00111110134
00111110308
0.0111105007

Objective
00111111459
00111108437
00111113387

Objective
00111110715
00111113635
00111108983

Pop
Ctype
Pc
Mtype
Pm

Mean

Mean

Mean

Generation
1.22

6.278
11.89

483
6.44

Generation
12.567

3467
5.967

Generation
8.633
7.63
5.13

05

0.3

Select

Select

Select

0.95



Pop

10
15

ctype

(X SO RCREN

Mtype
2

1
3
fix Pc=0.5
Pc*Pm
05-0.2
050.1
05-0.3
fix Pc=0.7
Pc*Pm
0.7-0.1
0.7-0.3
0.7-0.2
fix Pc=0.9
Pc*Pm
0.9-02
09-0.1
09-0.3
fix Pm=0.1
Pm*Pc
0.1-0.7
0.1-05
0.1-0.9
fix Pm=0.2
Pm*Pc
0.2-0.5
0.2-09
0.2-0.7
fix Pm=0.3
Pm*Pc
0.3-0.9
0.3-0.7
0.3-0.5

Duncan’s Multiple Range Test

mean
0.0012345581
0.0012345696
0.0012345760

mean
0.0012345630
0.0012345653
0.0012345655
0.0012345689
0.0012345769

mean
0.0012345630
0.0012345680
0.0012345727

mean
0.0012345627
0.0012345645
0.0012345769

mean
0.0012345623
0.0012345683
0.0012345723

mean
0.0012345678
0.0012345681
00012345682

mean
0.0012345623
0.0012345645
00012345681

mean
0.0012345627
00012345678
0.0012345723

mean
00012345682
0.0012345683
00012345769

3

Syi=0.0000000018539
r2=2.1
13=2.92

Syi=0.0000000023934
12=2.71
13=2.92
1-4=302
1:5=309

Syi=0.0000000018539
1-=211
13=2.92

Syi=0.0000000032111
r2=2.11
13=2.92

Syi=0.0000000032111
12=2.71
13=2.92

Syi=0.0000000032111
12=2.71
13=2.92

Syi=0.0000000032111
r2=2.71
13=2.92

Syi=0.0000000032111
r2=2.11
13=2.92

Syi=0.0000000032111
12=2.71
13=2.92

Pop
Ctype
Pc
Mtype
Pm

6

3
R=%5yi
0.000000005135
0.000000005414

R=r*Syi
0.000000006630
0.000000006989
0.000000007228
0.000000007396

R=r*Syi
0.000000005135
0.000000005414

R=ryi
0.000000008895
0.000000009376

R=ryi
0.000000008895
0,000000009376

R=r*Syi
0.000000008895
0.000000009376

R=r*S)i
0,0000000088%5
0.000000009376

R=r*S)i
0.000000008895
0.000000009376

R=rSyi
0.000000008895
0.000000009376

5 v
10 wvs

VS
VS
VS
VS
VS
VS
V§
VS
VS
V§

— RN B W W

05-0.3 vs
05-0.3 vs
05-0.1 vs

0.7-0.2 vs
0.7-0.2 vs
0.7-0.3 vs

0.9-03 vs
0.9-0.3 vs
09-0.1 vs

0.1-0.9 vs
0.1-0.9 vs
0.1-05 vs

0.2-0.7 vs
0.2-0.7 vs
0.2-0.9 vs

0.3-0.5 vs
0.3-05 vs
0.3-0.7 vs

1=0.75 2=0.25

Gl = G N = O B RO = o1

0502 :
0501 :
0502 :

0.7-01
0703
0.7-0.1

0.9-02
09-01
09-0.2

01-0.7
0.1-0.5
0107

02-0.5
02-0.9
02-0.5

03-0.9
03-0.7
03-0.9

. 0.0000000059

0.0000000179 >
0.0000000064 >
0.0000000115 >

0.0000000139
0.0000000116
0.0000000114
0.0000000080

0.0000000036
0.0000000034
0.0000000025
0.0000000002
0.0000000023

N N N N N NV V V V

0.0000000097
0.0000000047 <
0.0000000050 <

v

0.0000000142
0.0000000124
0.0000000018

NV V

0.0000000100 >
0.0000000040
0.0000000060 <

N

0.0000000004 <
0.0000000001
0.0000000003 <

0.0000000058 <
0.0000000036 <
0.0000000022 <

0.0000000096 >
0.0000000045 <
0.0000000051 <

0.0000000087 <
0.0000000086 <
0.0000000001 <

095

13

R3
R2
R2

R5
R4
R3
R2
R4
R3
R2
R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R2
R2

sig
sig
sig

sig
sig
sig
sig

sig
sig

sig

sig

sig
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3
Pc Objective
0.5 00277732790
0.7 00277814854
09 0.0277785690
Pm Objective
0.1 00277747372
0.2 00277771107
0.3 00277814854
Mtype Objective
1 0.0277768056
3 0.0277787499
pop
ctype
Pc
Mtype
Pm

Mean

Mean

Mean

Generation
7.583
9.75
15

Generation
6.33
6.083
6.4167

Generation
233
10.22

15

0.7

0.3

Select

Select

Select

095

188
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Pop
10
15
20

Mtype
1
2
3

fix pop=20

Pop*Mtype
2-1
20-2
20-3

Duncan’s Multiple Range Test

mean
00012345575
0.0012345692
0.0012345769

mean
0.0012345423
0.0012345729
00012345885

mean
0.0012345604
00012345768
0.0012345936

Syi=0.0000000024570
r2=2.1
13=2.92

Syi=0.0000000024570
r2=2.11
13=2.92

Syi=0.0000000042557
12=2.71
13=2.92

Pop
ctype
Pe
Mtype
Pm

R=r*Syi
0.000000006806
0.000000007175

R=rSyi
0.000000006806
0.000000007175

R=rSyi
0.000000011788
0.000000012427

10

20-3
20-3
20-2

VS
V§
V§

VS
VS
VS

10
15
10

vs 20-1
Vs 20-2
vs 20-1

1=0.25 2=0.75

0.0000000194
0.0000000077
0.0000000117

0.0000000462
0.0000000156
0.0000000306

0.0000000332
0.0000000168
0.0000000164

20

095

R3
R2
R2

R3
R2
R2

R3
R2
R2

sig
sig
sig

sig
sig
sig

sig
sig
sig

189



42

ctype

(S IS =N J% I NG ]

Pc
05
07
09

01
0.2
0.3

Objective
00111110014
00111117173
00111103648
0.0111106546
00111118175

Objective
00111114677
00111109658
00111108999

Objective
00111111969
00111110357
0.0111111007

Pop
Ctype
Pc
Mtype
Pm

Mean

Mean

Mean

Generation
98.389
253.333
138.722

133
138.056

Generation
1328
1615
162.b

Generation
220.233
127.467

109.2

Select

Select

Select
/

095
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Pop
10
15
2

Miype
1

2
3

Pm
01
02
03

fix Mtype =2
Mtype*Pm
201
2:0.2
203

fix Mtype =3

Mtype*Pm
301
303
302

fix Pm =0.2

Pm*Mtype
0.2-1
0.2-3
0.2-2

fix Pm =0.3

Pm'Mtype
031
03-3
0.3-2

Duncan’s Multiple Range Test

mean
0.0012345571
00012345669
0.0012345797

mean
0.0012345447
0.0012345790
0.0012345800

mean
0.0012345573
0.0012345692
00012345772

mean
0.0012345729
0.0012345835
0.0012345836

mean
0.0012345739
0.0012345813
0.0012345818

mean
0.0012345423
0.0012345818
0.0012345835

mean
0.0012345666
0.0012345813
0.0012345836

Syi=0.000000003559
=211
13=2.92

Syi=0.000000003559
r2=2.11
r3=2.92

Syi=0.000000003559
r2=2.71
13=2.92

Syi=0.0000000061644
12=2.11
13=2.92

Syi=0.0000000061644
12=2.71
13=2.92

Syi=0.0000000061644
r2=2.11
13=2.92

Syi=0.0000000061644
12=2.11
13=2.92

Pop
ctype
Pc
Mtype
Pm

R=rSyi
0.000000009859
0.000000010392

R=r*Syi
0.000000009859
0.000000010392

R=r*Syi
0.000000009859
0.000000010392

R=r*Syi
0.000000017075
0.000000018000

R=r*Syi
0.000000017075
0.000000018000

R=r*Syi
0.000000017075
0.000000018000

R=r*yi
0.000000017075
0.000000018000

10

20
20
15

03
03
0.2

V§
VS
V§

Vs
VS
V§

Vs
VS

2-0.3 vs
2-0.3 vs
2-0.2 vs

302 vs
302 vs
303 vs

0.2-2 vs
0.2-2 vs
0.2-3 vs

0.3-2 vs
0.3-2 vs
0.3-3 vs

10
15
10

01
0.2
01

20.1
20.2
20.1

301
303
301

02-1
0.2-3
0.2-1

031
0.3-3
031

1=0.50 2=0.50

0.0000000226
0.0000000128
0.0000000098

0.0000000353
0.0000000010
0.0000000343

0.0000000199
0.0000000080
0.0000000119

0.0000000107
0.0000000001
0.0000000106

0.0000000079
0.0000000005
0.0000000074

0.0000000412
0.0000000017
0.0000000395

0.0000000170
0.0000000023
0.0000000147

20

2,3
02,03

R3
R2
R2

R3
R2
R2

R3
R2
R2

R3
R?
R2

< R3

R2
R2

R3
R2
R2

< R3

0.95

R2
R2

sig
sig
sig
sig
sig

sig

sig

sig
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Pc
0.7
09
05

Mype
3

2

fix ctype=1

Ctype*Pm
1-0.2
1-03

fix ctype=2

Ctype*Pm
203
202

fix ctype=3

Ctype*Pm
302
303

fix ctype=4

Ctype*Pm
403
402

fix ctype=5

Ctype*Pm
502
503

fix Pm=0.2

Pm*ctype
021
025
02-3
0.2-4
0.2-2

fix Pm=0.3

Pm*ctype
0.3-4
0.3-2
031
0.3-5
0.3-3

Duncan's Multiple Range Test

mean
130.4750000000
201.9250000000
246.0250000000

mean
125.0500000000
260.5670000000

mean
116.8300000000
169.3300000000

mean
1149170000000
377.2500000000

mean
208.1670000000
2140830000000

mean
104.0830000000
290.5830000000

mean
120.0830000000
212.7500000000

mean
116.8300000000
120.0830000000
208.1670000000
290.5830000000
371.2500000000

mean
104.0830000000
114.9167000000
169.3300000000
212.7500000000
214.0830000000

Syi=32.1745
22283
132,98

Syi=26.27
122283

Syi=58.7424
12=2.83

Syi=58.7424
22283

Syi=58.7424
2283

Syi=58.7424
1-2-283

Syi=58.7424
12=2.83

Syi=37.1519
12=2.83
r3=2.98
14=3.08
15=3.14

Syi=37.1519
r2=2.83
r3=2.98
14=3.08
15=3.14

Pop
ctype
Pc
Mtype
Pm

R=ryi
910540
95,8800

R=r*Syi
74,3450

R=r*yi
166.2400

R=r*yi
166.2400

R=r*Syi
166.2400

R=r*Syi
166.2400

R=r*Syi
166.2400

R=r*Syi
105.1400
110.7130
114.4280
116.6570

R=r*Syi
105.1400
110.7130
114.4280
116.6570

0.5
0.5
0.9

103

2:0.2

303

4-0.2

503

0.2-2
0.2-2
0.2-2
0.2-2
0.2-4
0.2-4
0.2-4
02-3
02-3
025

03-3
03-3
03-3
03-3
035
035
035
031
031
0.3-2

VS

Vs

VS

VS

VS

Vs

VS

0.7
09
0.7

1-02

203

30.2

403

502

0.2-1

025 :
023 :
024 :
021
025 :
02-3 :
021 :
025 :
021 :

034
032
031
035
034
032
031 :
034
032 :
034

1165600 >
44.1000 <
71.4500 <

1355170 >

52,5000 <

2623330 >

59160 <

186.5000 >

92.6670 <

260.4200
257.1670
169.0830
86.6670
173.7530
170.5000
82.4160
91.3370
86.0840
32530

N N N NV V NV V V

110.0000
99.1663
44.7530
1.3330
108.6670
97.8300
434200
65.2470
54,4133
10.8337

N NN NN N NN NN

095
20

12345
07,09

3
02,03

R3
R2
R2

R2

R2

R2

R2

R2

R2

R5
R4
R3
R2
R4
R3
R2
R3
R2
R?

R5
R4
R3
R2
R4
R3
R2
R3
R2
R2

sig

sig

sig

sig

sig
sig
sig

sig
sig
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53

ctype

ol B~ N

Pc
07

Pm
02
03

Objective
0.0249923948
0.0249924357
0.0249984833
0.0250168969
0.0249997906

Objective
0.0250053287
0.0249946713

Objective
0.0250023140
0.0249976860

Pop
Ctype
Pc
Mtype
Pm

Mean

Mean

Mean

Generation
123.625
134.75
115.25
136.375
90.75

Generation
115.2
1251

Generation
146.05
94.25

Select

Select
1

Select
/

0.95



194

.6 6 10 1=0.75 2=0.25
.6.1 Duncan's Multiple Range Test 6
Pop mean Syi=0.0000000043248 R=r*Syi 20 Vs 10 0.0000000238 > R3 sig
10 00012345564 12=2.11 0.00000001198000 20 v 15 0.0000000131 > R2 sig
15 00012345671 13=2.92 0.00000001262800 15 v 10 0.0000000107 < R2 .
20 00012345802
Mtype mean Syi=0.0000000043248 R=r*Syi 2 v 1 0.0000000434 > R3 sig
1 00012345394 r2=2.11 0.00000001198000 2 v 3 0.0000000013 < R2 .
3 00012345815 13=2.92 0.00000001262800 0 v 1 0.0000000421 > R2 sig
2 00012345828
Pop*Mtype mean Syi=0.0000000074907 R=r*Syi 202 vs 201 0.0000000420 > R3 sig
201 0.0012345524 r2=2.11 0.000000020749 20-2 vs 20-3  0.0000000007 < R2
20-3  0.0012345937 13=2.92 0.000000021873 20-3 vs 201 0.0000000413 > RL sig
202 0.0012345944
f 0.95
Pop 20
ctype
Pc
Mtype 23



.6.2 Duncan's Multiple Range Test
Mtype mean Syi=38.2360
3 212.8110000000 12=2.8075

2 440.7330000000

Pop
ctype
Pc
Mtype
Pm

R=r*Syi
107.3475

20

B 09

195



63

Ctype

[S 2 TN = S I ]

Pc
05

09

01
0.2
0.3

Objective
0.0111115950
00111103157
00111116586
00111097174
00111122689

Objective

S 3
00111120444
00111102116

Objective
0.0111112417
0.0111098400
0.0111122517

Pop
Ctype
Pc
Mtype
Pm

Mean

Mean

Mean

Generation
103.278
396.5
213.39
158.94
191.94

Generation
219.1
211.23
208.1

Generation
202.467
2204
215.57

0.7

0.3

196

Select

Select

Select
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7.1

Pop
10
15
2

ctype
2

W = U1

7 20
Duncan's Multiple Range Test 7
mean Syi=0.00000003496 R=r*Syi
0.0037036326 12=2.11 0.00000009684000
0.0037036956 13=2.92 0.00000010208000
0.0037037830
mean Syi=0.000000045134 R=r*Syi
0.0037035564 2-2.17 0.000000125020
0.0037036940 13=2.92 0.000000131790
0.0037037043 14=3.02 0.000000136300
0.0037037104 r5=3.09 0.000000139460
0.0037038534
mean Syi=0.00000003496 R=rSyi
0.0037030937 12=2.11 0.00000009684000
0.0037037277 13=2.92 0.00000010208000
0.0037042897
mean Syi=0.00000003496 R=r*Syi
0.0037035726 12=2.11 0.00000009684000
0.0037037040 13=2.92 0.00000010208000
0.0037038346
o e
Pop
ctype
Mtype

Pm

20
20
15

03
0.3
0.2

Vs
Vs
Vs

S S s sSssSsSsSs<
S B B B B BB BB D

V§
V§
Vs

10
15
10

RO OTEN e o BN

—

0.1
0.2
01

1=0.25 2=0.75

0.0000001504
0.0000000874
0.0000000630

0.0000002970
0.0000001594
00000001491
0.0000001430
0.0000001540
0.0000000164
0.0000000061
0.0000001479
0.0000000103
0.0000001376

0.0000011960
0.0000005620
0.0000006340

0.0000002620
0.0000001306
0.0000001314

vV NV N NV V V V V

v

095

R3
R2
R2

R5
R4
R3
R2
R4
R3
R2
R3
R2
R2

R3
R2
R2

R3
R2
R2

sig

sig
sig
sig
sig
sig

sig
sig
sig

sig
sig

sig
sig
sig
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8 20

Duncan's Multiple Range Test 8
mean Syi=0.000000038873 R=r*Syi 3w
0.0037030057 r2=2.71 0.00000010768000 3
0.0037037881 13=2.92 0.00000011351000 2 VS

0.0037043173

pop
ctype
Mtype

Pm

1=0.50 2=0.50

0.0000013116 > R3
0.0000005292 > R2
0.0000007824 > R2

" 0.95

sig
sig
sig

198



.8.2

Pm
03
02
01

Duncan's Multiple Range Test

mean
1607.0000
1956.1300
3770.3700

Syi=341.4668
12=2.8525
r3=3.0025

Pop
ctype
Mtype

Pm

R=r*Syi
974.0340
1025.2540

01 vs
01 vs
0.2 vs

03
02
03

2163.7300
1814.2400
349.1300

0.2,03

>
>
<

0.95

R3
R2
R2

sig
sig

199



83

pop
10
15
20

Ctype

ol B

0.2
0.3

Pop

Objective
0.0166662150
0.0166686030
00166651819

Objective
0.0166656281
00166663933
0.0166647554
00166677389
00166688176

Objective
00166661277
0.0166672057

Ctype

Miyp
Pm

e

Mean

Mean

Mean

Generation
1797
1904.05
1643.65

Generation
1337.75
1447.83

2219
2123.167
1780.083

Generation
1956.133
1607

Select

Select

Select

/

0.95

200



.91

Pop
10
15
20

Mtype
1
2
3

Pm
01
02
03

9 20
Duncan's Multiple Range Test 9
mean Syi=0.0000000467 R=r*Syi
0.0037035656 12=2.11 0.00000012927000
0.0037036863 13=2.92 0.00000013627000
0.0037038592
mean Syi=0.0000000467 R=r*Syi
0.0037029278 r2=2.71 0.00000012927000
0.0037038458 13=2.92 0.00000U13627000
0.0037043375
mean Syi=0.0000000467 R=r*Syi
0.0037035596 12=2.11 0.00000012927000
0.0037037590 13=2.92 0.00000013627000
0.0037037925
» [
Pop
ctype
Mtype
Pm

20
20
15

V§
V§

VS
VS
V§

03 vs
03 s
02 vs

10
15
10

01
0.2
01

1=0.75 2=0.25

0.0000002936 >
0.0000001729 >
0.0000001207 <

0.0000014097
0.0000004917
0.0000009180 >

Vv Vv

0.0000002329
0.0000000335
0.0000001994 >

0.95
20

02,03

R3
R2
R2

R3
R2
R2

R3
R2
R2

sig
sig

sig
sig
sig
sig

sig

201



92
9
Mean
ctype Objective Generation
1 0.0500266996 2038.75
2 00499987370 15285
3 0.0500035160 2072.25
4 0.0499764800 2271.25
5 00499945660 1288.25
Mean
Pm Objective Generation
0.2 00500170960 21375
0.3 0.0499829037 1542.1
d ~ -
Pop 20
Ctype 1
Mtype 3

Pm 0.3

Select
/

Select

/

202



35
31

[p]
o

—
(&S]

factory width (Unit)

05

1=0.25 2=0.75

 1-3-5-6-4-2
1 1-2-1-2

123931
TCR :167.333

1

.{otalcost: 23931 ..... TCR:167

i3)..area:3. fix:(1*3)

(1)..area:3.. fix(1*3)

area:2.. fix(1*204). aréa:L..

{6)..area:6.. fix(2*3)

2 3 4
factory length (Unit)

1

<2).area:9. fix (23)



204

6 12050 2=0.50
+ 1-3-5-6-4-2
+1-2-1-2
123931
TCR : 167.333
2 1
1
3
6 1=0.75 2=0.25
+ 1-3-5-6-4-2
$1-0-1-2
123931
TCR : 167.333
3 1
1
4
10 1=0.25 2=0.75
 7-5-2-6-4-3-9-1-10-8
3102
506,087
TCR : 630.994



factory width (Unit)

4.5

35

25

15

0.5

205

Plant(1).....totalcost: 506 .....TCR:631

(10)..area:4.. fix:(1*2)
(2)..area:6.. fix:(1*2)
(1)..area.2.. fix:(1*2)
{)..area:2.. fix:(1*2)
{5)..area:4.. fix:(1*3)
{9)..area:2.. fix:(1*1)
{8)..area:8.. fix:(2*2)

{3)..area:2.. fix:(1*1)

{7)..area:6.. fix:(2*3)
{4)..area:4.. fix:(1*1)

2 3 4 5 6 7 8
factory length (Unit)

2 4
If 5
10 1=0.50 2=0.50
 1-5-2-6-4-3-9-1-10-8
1 3-1-2-2
1 506.087
TCR :630.99
5 4



4.5

factory width (Unit)

206

6
10 1=0.75 2=0.25
: 2-7-5-6-1-9-3-4-10-8
1 3-1-1-1-2
1 495.826
TCR : 649.9

3

Plant(L).... totalcost: 496 ..... TCR:650

<b).aread.. fix(1*3)
(4)..area:4.. fix(1*1)

<7).area:6.. fi>:(2*0). vea-33fiiir\d™.. fix,(1*1) <8)..area:0.. fix(2*2)

A2)..area:6.. fi>:(1*1).area-39)fi2iM., ﬁxf(-l*%}---- _
(10)..areacd.. fix:(1*2)

2 3 4 5
factory length (Unit)

20 1=0.25 2=0.75

: 11-3-10-1-14-6-5-20-17-13-18-16-9-7-8-4-19-15-12-2
1 2-2-2-2-2



factory width (Unit)

o — [pS] wW =~ o D -~ oo ©
] ' N

=
o

207

1 5054.06

TCR : 12181
4
Plant(1).... totalcost: 5054 ..... TCR:12181
, 9)..area:8.. fix(2*3)
_|(1%’%re£:6.. _
<10)..area:8.. fix:(2%2) - <2)..aree:8.. fix(1*4)
(7)..area:2.. fix:(1*)
<16)..area:4.. fix-(1*1)
«14)~ <8)..area’ThefTM-)--
_ ] 'g%.areaﬂ.. fix:(L*]) _
(3)..area:6.. fix:{s;2"rea:2.. fix,(1*1) ! _<1§f..area:6.. fix.(1%2)
_<4()1..area:4.. fix.(L*1)
_ le..area:Z.. fix.(1*1)
<b)..area-4. fIXZ{l* )
_ <17).area:d. fix(2%2) _ _
4 1).area:6. fix(1*3) <19)..area6.. fi<1(5;2yrea6.. fix:(1*1)
).area6.. fix:(2*2)
0 d=mrf 00 7 8 10
factory length (Unit)
4 7
8
20 1=0.50 2=0.50
: 2-7-16-10-5-1-8-12-4-17-14-6-3-15-18-13-19-9-20-11
: 2-2-2-2-2
1 4367.07
TCR : 1323.09



208

Plant(1)....totalcost: 4367 .....TCR: 13231

10
9 (3)..area:6.. fix:(2*2)
a 0) -areas. fix:(2 2) {11)..area:6.. fix:(1*3)
8 (5)..area:4.. flx:(1'1)
(6)..area:2.. fix:(H5))area:6.. fix:(1*1)
7
§ (16)..area:4.. fix:(1*1) (14)..area:4.. x:(2*2)
. (1)..area:6.. fix:(1*1) (20)..area:6.. fix:(2*2)
5 (18)..area:4.. fix:(1*1)
(7)..area:2.. fix:(1*1)
(17)..area:4.. fix:(2*2)
(13) .area:2.. fix:(1*1)
(8)..area:4.. fix:(1*1)---------
(2)C N4)..area:4.. fix:(1*1) N9).. area: 8.. fix:(2*3)
(19)..area:6.. fix:(1*2)
(12)..area:6.. fix:[1*2)
2 3 4 5 6 7 8 10
factory length (Unit)
5 8
9
20 1=0.75  2=0.25
: 2-71-16-10-5-1-8-12-4-17-14-6-3-15-18-13-19-9-20-11
 2-2-2-2-2
14367.07
TCR : 1323.09



factory width (Unit)

— [pS] wW ~ o D -~
1

=
© o

(o)

Plant(1)....totalcost: 4308

209

TCR:14563

{18)..area:4.. fix

L. reas. ﬁfé)lfeﬂea:&. fix(249)

<

i

1)..area:6.. fi><2e); 3hiread. fix;(2*2)

<3).area:2.. fix(1*1)

--------- {17). area:d.. fix(2%2) -(48..area:4.. fix.(1*1)
<10)..area:8.. fi(1(228iread.. fix;(2*2)

_<1}..area:6.. fix:
-(16). area:4.. fix.(1*1)

<3).area:6.. fix.<s;28irea2.. fix:{7; IErea:2.. fix(1*1)

{19)..area6.. fix.

)

{8)..area:4.. fix(1*])

(1)

{12).area:6.. fix.(1*2)

5).aread., fix (11

2 3 6

NG _
factory length (Unit)

/

2638 1fix(1*%)

§ 9 10
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TCR
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21

21

CCU

o ~N o1 BA~Ww N

6
9 (EXOTIC)

Treatment Room

42.25
22.75
22.75
22.75
22.75
22.75
22.75
22.75
22.75
11.375
11.375
11.375
11.375
26.00
11.375
32.50
32.5
78.00
42.25
22.75
11.375

135

)*
6.5%6.5
3.5%6.5
3.5%6.5
3.5%6.5
3.5%6.5
3.5%6.5
3.5%6.5
3.5%6.5
3.5%6.5
3.25*3.5
3.25%3.5
3.25*3.5
3.25%3.5
4*6.5
3.25%3.5
5*6.5
5*6.5
6.5%12
6.5%6.5
3.5%6.5
3.25*3.5

39

211
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11709

© ©o ~N o o1 B W D
w

— =
N> P o

~N ol W N

CCu

95159

42.25
22.75
22.75
22.75
22.75
22.75
22.75
22.75
22.75
11.375
11.375
11.375

TCR

2*2
2*2
2*2
2*2
2*2
2*2
2*2

ol o1 o1 ol o1l o1l U1l o1l o1l ol ol o
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13
14
15
16
17
18
19
20
21

b
9 (EXOTIC)

Treatment Room

11.375 2*¥2
26.00 2*2
11.375 2*2
32.50 2*2
32.5 2*2
78.00 2*2
42.25 2*2
22.75 2*2
11.375 2*2
3
1
Lo
(
Y) w1-025 2=0.75
1
6.5
GAS
10
PMX
' ' 0.7
Reciprocal Exchange
0.3

5000

ol o1 o1 o1 ol o1 o1l ol ol



4-3-20-21-5-13-1-17
TCR 10933

40
3
30

E 25

| 20

TCR 6.63 %

: 14-6-16-1-8-18-19-9-12-11-10-15-2-

: 6.5-4-3

18718
2

Plant(L)....totalcost: 78718 .....TCR:10933

{20)..area:23.. fix:(2*2y
(3)..area:23.. fix:(2+2)
(21)..area: 11.. fix:(2%2)
<4).area:23.. fix:(2*2)
<5)..area:23. fix:(2'2)
{2) .area:23.. fix:(2*2)

(13).area:11.. ﬁx:(ﬁ area: 1., (22

) )
0). area: 11.. fix:(2%2)
1). area: 11.. fix:(2+2)
<12)..area: 11.. fix:(2*2)

<7).area: 23.. fix:(Z’iZjl)

(17)..area:33.. fix:(i")-area:23- fix 2%2)

{14)..area:26.. fix (2*2)
(6)..area: 23 fix:(2*2)
<16)..area:33.. fix;j(2*2)

(1)..area:42.. fix:(5*5)

{8)..area:23.. fix:(2*2)

A(18).area:78.. fix @2

<19)..area:42.. fix:(2*2)

2 4 6 8
factory length (Unit)

10 12 14

17.28 %
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MATLAB version

MATLAB version 5.3.1
32 MB
Directory C.
MATLAB Set Path

Enter

1 025 2-075
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MAIN MENU 4

1. Criterion Selection

W1 [0.4]

«xx Criterion Selection ****

This is Multi-Objective Problem (total cost(W1)+total closeness rating(W2))
Please enter W1 (0.5): 0.25

Distance Between Department
1. Euclidean
2. Rectilinear
Choose (1):2
1 BACK 2.NEXT 3.MAIN MENU (2):2

0 Default

2. Information Input

2.1 Plant's Information Input

How many department (6):6
factory length:6
factory width:4
1. BACK 2.NEXT 3.MAIN MENU (2):2
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2.2 Material Flow
1

Material flow from dept.[1] to another
Material flow from dept.[1] to dept.[2] (0) 63
Material flow from dept.[1] to dept.[3] (0) 605
Material flow from dept.[1] to dept.[4] (0) S5S51
Material flow from dept.[1] to dept.[5] (0) 116
Material flow from dept.[1] to dept.[6] (0) 136

1. BACK 2.NEXT 3.MAIN MENU (2):2

Material flow from dept.[2] to another
Material flow from dept.[2] to dept.[1] (0) 63
Material flow from dept.[2] to dept.[3] (0) 635

Material flow from dept.[2] to dept.[4] (0)

2.3 Material Handling Cost
1

Material handling cost from dept.[1] to another
Material handling cost from dept.[1] to dept.[2] (1) 1
Material handling cost from dept.[1] to dept.[3] (1) 1
Material handling cost from dept.[1] to dept.[4] (1) 1
Material handling cost from dept.[1] to dept.[5] (1) 1
Material handling cost from dept.[1] to dept.[6] (1) 1

1. BACK 2.NEXT 3.MAIN MENU (2):2

Material handling cost from dept.[2] to another
Material handling cost from dept.[2] to dept.[1] (1) 1
Material handling cost from dept.[2] to dept.[3] (1) 1

Material handling cost from dept.[2] to dept.[4] (1)
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2.4 Department's Relation
I TCR
1 Linear
2. Exponential

Relation setting

L Linear 2Exponent|al (2):
A (4)

E ()

I (2):3

0 (12

(0):1

X (-1)0

AR) E(4) 13) 0(2) (1) X(O)

1. BACK 2.NEXT 3.MAIN MENU (2):2

-bml—‘

Dept.'s relation between dept.[1] and another

dept, relation between dept.[1] and dept.[2] (A/E/IOIUIX):
dept, relation between dept.[1] and dept.[3] (A/ENOIUIX): o
dept, relation between dept.[1] and dept.[4] (A/E/OIVIX):
dept, relation between dept.[1] and dept.[5] (A/E/OIVIX):
dept, relation between dept.[1] and dept.[6] (A/E/MNOIUIX): O

1. BACK 2.NEXT 3.MAIN MENU (2):2

Dept.'s relation between dept.[2] and another

dept, relation between dept.[2] and dept.[3] (A/E/IOIUIX):
dept, relation between dept.[2] and dept.[4] (A/ENOIU/X): O
dept, relation between dept.[2] and dept.[5] (AENOMUIX): ...3

3. Department’'s Information Input

3.1



Department(1/6)
Department name:1
there are 24 'unit area remain dept(1) total Area:3
fix width(0):1
fix length(0):3
ratio(5):5

1. BACK 2.NEXT 3.MAIN MENU (2):2

3.2

Please Enter department name which will be fixed(only one department)®

and enter horizontal length of the fixed departments

4. Design

222
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Design by GA.
Population size
Please enter population size:15
Number of generation
Please enter no. of generation:20
Crossover Type Selection
1. PMX
2.cx
3. OX
4. PBX
5. OBX
Choose:5
Probability of Crossover
Please enter Pc [0,1]:0.9
Mutation Type Selection
1. Random Sequence
2. Insertion
3. Reprocal Exchange
Choose:3
Probability of Mutation
Please enter Pm [0,1]:0.3
Number of iteration(is a criteria for stopping GAs-loop)
if do not want this stopping criteria,
please enter number of iteration equal to number of generation

Please enter Number of iteration:20

GAs

Population Size: 15
no. of generation: 20
Reproduction: Roulette Wheel
Crossover: PBX
Pc: 0.9
Mutation: Reciprocal Exchange
Pm: 0.3

no. of iteration: 20
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(GAoperation.m)

MATLAB Cost TCR
report.m
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